f](x,y) := 0.0m

H(x,y) = |-3m if 0.0m <x<8.0m A 0.0m <y <8.Im

(y — 8.1m)
0.9m

-3+ 445 m if 22m <x<58m A 9.0m <y <9.6m

-3m — 4.45m if 22m<x<58m A 8.1m <y <9.0m

2.2
=3m if (0.0m <x<22m) A (8.1m <y <9.6m) A X > 1—5(y - 8.1m)

2.2
=3m if (5.8m<x<8.0m) A (8.1m<y<9.6m) A Xx—5.8m< —1—5(y —9.6m)

0.0m otherwise

f1.15

2(x,y) = fi(x,y) - (%)

10m ~10m 3
Volume := J J z(x,y) dx dy Volume = 237.325-m
0 0



XCoG =

YcoG=

ZooG =

~10m

~10m
z(X,y) X

dx dy
Volume

~10m

z(X,y)'y dx dy

Volume

70

~10m

Z(x.y)
2

Volume

z(x,y)
dx dy




